
SAP ABAP table T059ZZINS {Withholding tax code for interest calculation}

T059ZZINS

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

WT_DATE [DATS (8)]

WT_CDINT [CHAR (2)]

T000

MANDT [CLNT (3)]
 T059ZZINS-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] T059ZZINS-LAND1 = T005-LAND1 0..N

1

T059P

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

 T059ZZINS-WITHT = T059P-WITHT 
0..N1

T059Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

WITHT [CHAR (2)]

WT_WITHCD [CHAR (2)]

 T059ZZINS-WT_CDINT = T059Z-WT_WITHCD 

0..N

1

 T059ZZINS-WT_WITHCD = T059Z-WT_WITHCD 

0..N

1


